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_._Sectibn A :-@0 x 2 marks)

For each questuon from 1 to 30, four. optlons are given. One of them is the

o -_correct answer. Make your choice (1, 2, 3 or 4). Shade the correct oval (1 2,

- 3or 4) on the Optlca! Answer Sheet provnded

1. The classﬁ‘ cation chart ‘below shows how- -organisms, A, B C and ‘D, are
dass:ﬁed '

| Organisms A,B.C,D

" - Move from one’ . Do not-mbve from
. place to another ~one place to another

Breathe D
through lungs :

Breathe. 1.
- through gills

_ Have 2 Have
feame'rs ' ha(r

Which Qhe Aof the foildxviné Ie‘;ttefs,‘A, B; C of D, represents a kingfisher?

N9

A

(2) . B
@ .Cc-
4) D



2: The graph below shows the changes in the helght of a pup(l overa penod LGE

. tlme

Height (o)
PR N ;

>. Age(yrs)

- After studying the graph, 3 pupils make a statement each as shown below: .

Sufen: From A to B, there-is an increase in h‘eight' as the
- number of cells-in the body i lncreases

Ahman: The increase in the pupil’s hexght from A toBisdueto
) ‘the cells in the body growmg bigger.

Csmall: - There is no change in height from B to C as there is
.+ ' no cell dms:on

:Whtch of the above puplls haslhave made the. correct conclusion(s)?

1) Sufen only.

(2)  Sufen-and Ismail only
-(3) Ahmanand Ismail:only -

(4 Sufen, Ahman and Ism_all



._3;'.

The dlagram below shows a ﬂowchart to dlfferentlate some cells P, Q R,
S, Tand U. ' -

Start_

—"Doeés it have
acell wall?_

Does it have ~
a nucleus?:

Yes

Does it have
a cell wall?

Does it have
chloroplasts?_-

Based on the above information, which of the followmg sta{ements about

2

(3)

@

Dow>

‘the above. cells are definitely true?

Cells' S and U may be animal cells.

Cells P, Q and T afe taken from plants.
Cells P and R can cafry out photosynthesns R
Célls T and-U may not be cells.as they do not have a
‘ nudeus . )
“Aand-C only
B and D-only-
A, B.and C only



-See_ds 1

sending ¢ A : _ __Adqlt:pl_qf\t with frui_ts ]

Adult ptan_t with flowers

Which one of the following lists oorrectly shows the four different
processes that takes placein the hfe cyde of the plant'?

-

) : Process -
Dispersal | Pollination | Fedilisation [ Gemmination
(1) G E F ] _-D '
@ | D F- -G D.
(3) G F FE - D
@ ‘F E F. G




'5.° The diagram below shows the cross-section of a pomegranate fruit. -

‘Based on the diagram’ above whlch of . the followmg lnferences is/ are

The pomegranate flowers grow in clusters.

The pomegranate flower has many ovaries.

The pomegranate flower has many colourful petals

The ovary of the pomegranate flower contains many ovules.

correct'?
A
B
G
o
(1) Donly

(2) AandConly
(3) A,BandDonly
(4) A/B,CandD

Hui Min germmated some green bean seeds and recorded her

observahons in the table as shown below

Observation

Day
2 The seeds swell -
3. The seed goats bréak -
4 Thé roots Sfart to ébpéar'
7 The shoots statt to appear . :
14 The shnvelled seed leaves have dropped off

: From which day onwards wlll the seedlmgs most probably be able to
" Begin. wnymg out photosynﬂzesss‘? ' .

_ (1) Day 4
(2) - Day7:
(3)  -Day10

-(4) 'Da_y14_' ,



7.

The diagram; below:shows Hatston's fammily-tree: -

Houston:

Kéi/:

O 'Female T B - Male

- Male with freckles

@ Female with curly hair iefee - _
‘ . B Male with cuily hair

Based " on -the information prowded above, which of‘the " following
-statements are'true? '

AL Houston has 3 aunt:&c :
B Houstor's brother will definitely bear a son with curly hair.
C. .Hougton‘s mother‘i’ hented the genes for curly halr from her
D _The “géne that’ 'causes frecides only - affects the male
members of the famlly :
1) AandC only
(2 B and D only
(3) -Aand D onty
(4)

A B and D only




The dlagram below shows. the process of fertlhsahon in humans.. During
this process A fuses with B. - :

=¥

Whlch of the followmg oorrecﬂy identifies A and B and where they are
produced in the human reproductive system?

‘A - -1 Produced by |- . B N P}oduced by
(1) { Sperm : Penis mi Egg Ovule
(2) Egg | Ovary Sperm Testes
(3) . Sperm | Testes Egg - Ovary B
(-4).- . Egg- i ;.-M.Qva_r'y _Spér'm.... . Penis.  |.:
. .




9 An electnc c1rcult was set up ‘as: shown In th‘e' 'di'agram below

L

_.bg_ZZ._er- ,- @ :
N 54 | |
_ s3 . =
: :1;: o\ s2
B3 s bell .

Which.one of the followmg actions. wﬂl sound the buzzer and fight i up one

* bulb only?
: S1 S22 S3 -S4
A close "~ open open " close .
- B open open - . close . .| opeén
- C . open . close dose | cdlose
. D open .| .close " open. - | close -
(1) AandDonly
(2 BandDonly
(3) © A,CandDonly
(4) B, C.andD.only



10. “Yuki sets up. three electnc circuits as shown below. She uses: 1dentxcal :

battenes for each c;rcunt_ Which of the statements below about the c:rcuats‘
are oorrect’? ) -

e

"—I1|I|I.'

Bulb J

o— ol
Bulb G : o ® - .
- .Bu"-).H.,

Bulb J wm not ||ght up.
Bulb J will be dimmer than Bulb G.

The greatest amount of electrical cutrent flows through Bulb
G.

The least amount of electrical current flows througti Bulb H.

O QW>

(1) .- Aand B only

(2) - - B and C only

(3): A, CandD only
(49 B,CandDonly

c-10-



11 Smga cut 4 pieces of wire, P; Q,"R and S;each’of dlfferent length and
B - thickness from- the -Same matenal He’ then set up a clrcmt as shown -
) below : ' : :

K

‘He used each of the wires to join ends X and Y and observed the
_ -brightness of the bulb. He recorded his cbservations in the table below.

Wire | Length (m) : Thlckness | -Brightness of bulb
N TR s(mm) . - -
P 2 0.2 ~ . Brght
Q 2 03 - - - Very bright

R 3 0.2 ~ Dim
S 3 0.3 ‘Bright

Based on the information in the table above, what can: Smga conclude
from his experiment?

(1)
- ()
e

@

B
“c
D

A As the length. of the wire decreases the bnghtness of the
' bulb increases.
As the length- of the wire decreases the bnghtness of the
~ bulb decreases.
As the thicknéss of the wire mcreases the bnghtness of the -
bulb decreases.
As the thickness of the wire increases, the bnghtness of the
bulb increases. : '
A and C only
A’and D only
B.and C only

B and D only

- 11 -




12. - Study the diagram below carefully: -

sea
At which stagé. A, B or C, do evaporation and condensation take place?
Evai)orétién 1 C;n'densatip'n
ORE A . C
o1 B C :
® | - A | B
@ cC B




13. The table below: shows the- freezmg poxnts and~ boahng pomts of - 4
o substances W X YandZ." - :

Substance Freezmg pomt (°C) Bonlmg pomt (°C)
.'48 '.84',-

N '-<'__'_>$; 2

R 52 03

26 |- 61

At which one of the followmg temperatures are the four substances W, X,
Y and Z at the same: state of matter’? L -

(1) 31"0"-_'--'. a -". S
(2) 80°C.. . . i el Al
@3 eac ] R s
(4) 87°CE T

14. A hole is made at the base of a cup. Then the cup is inverted and lowered

vertically into a basm of water. Whtch dlagram shows the correct water
- levei in the cup? - '

hole . .- ~ ~hole

(1 | e\-j'/c.;p 2 o \ o oup

@)

13-



.15, Joshua pushed a ball in the direction shown and it rolled towards the' end'
of the slope

push

At which pomt on the slope will the ball have the greatest amount of kinetic

energy?
{1) A
2 B
3 ¢C
) D

16. A ball was placed-at position A-and then released to roll down and along

the-curved track. The ball reached a maximum posmon before -it .rolled
back.

Which would be the maxlmum posmon the ball WOu!d reach when 1t was

feteased" -------- e
() -B
2 ¢C .

3 D

-4 E

~14 -




L ‘1.?;

water sample'R

ligﬁt sensor
connected to'a.
datalogger

béaker—

-Mikyla oolleeted 4‘Water sampres, R S T and Y from 4 dffferent ponds of
" similar depth She placed 150mt of water’ sample R mto a smail beaker'
and set up the expenment as shoWn below

—retort stand

Mikyla lit her torch and shone it over water samp!e R in the beaker. She
used a-data logger to measure how much light is able to pass through it.
She recorded three sets of readings for water sample R.

.She then repeated the same:procedure for the- other 3 water"samplee, S,
T and U, one ata time.- She recorded her observations in-the table below.

Number of | .Reading on the:light sensor for each_‘ -
readings water sam pte (Lu) ‘
' R S - T U
st~ | 501 600 | 50 .| 908
ond | 495 . | 603 55 903
3d | 503 803 | 57 905

ln Whlch water sample wul Mlkyia ﬁnd the grea{est number of- water plants :
growmg at the bottom of the pond?

@

Q)

N
@-

R

S
T.
-

-15-



18. A parachute was released from an atrplane and it landed on the top of a.
- slope as shown below. What is the energy conversion frorm the pomt the
parachute was released to the point it landed on top of the slope?”

parachute was
released

top of slope

l , where parachute |
/ lands. :

(1)  potential energy —» kinetic energy -—» sound éenergy

(2)  kinetic energy —> sound energy —» potential energy

(3)  kinetic + sound energy —» potenhal energy—» potential energy
(4) potential energy —» kinetic energy —» sound + potential + -
' heat energy

19. ~ Which one:of the following consists of sources of energy only?
(1) sun, rock,'fuel _
(2) oil, air, waterfall
(3) wood, food, wind
. {4) coal, magnet, natural gas

)

~16-



. 20. - Look at m'ezdiégram'_;lje]bwa-f :

Fal e orayvie it

Electrical énergy

cen DY e e SN

, "--"P‘ ‘: .

A 4

Kinetic energy

} _Ki_ﬁeﬁc 'e_nelr'g_y'._ K

M

Y

Potential energy

Which one of the following represents P, L, M and N7

A

P

L

M

N

(1)

A lift

- Firing a gun

Compressing
a spring

A turbine

(2)

A hairdryer

Climbing up
".a flight of
. .. stairs

Bufning s
-fossil fuels

Pressing the
lift button

(3) .

-An electric
* drill

toy

| Winding up a

A ;Jack;in—.é—
box

: A'dynamo

@

A carin
motion

| Stretchinga

spring

.- Pulling the '
band of a

.An electric

17

. cafapult- -

sha_ver A




' 21 Roller ooaster cars do not have motors and they move-up and’ down the ’
* slopes- with the energy from the height at which: the ride begins. The

diagrams below show four. different roller coaster track designs. Which =~

track will allow a roller coaster car to -travet conﬁnuousty from the
, begmmng tothe end of the ride?

M [ s |

Stop

(2)

3) étart

@ starnt "

...[8_'. .




22 The ‘diagram below: shows 4 objects hangmg from the celhng whlch is _

2 Sm away froth the ground S . o
i ieling
o A
— : | 2.5m-
853 509} - E F
c D S
greund
Which of the following statementé is/are true?
A Object C has more gravitational potential energy than object

E.

B Object D has less gravitational potential energy than object
F

C Objects C and D have the same amount of grawtaﬁonal
potential energy.

D When' the objects hit the ground, ‘all the gravitational
potential energy of the objects will be converted to kmetlc.
energy only.

(1). Bonly

(2)  BandDonly .
(3) -‘A,CandDonly
(4) B,CandDonly

23.  Which one of the following involves a push and a pull?

(1) A man leaning-against a wall.
(2) A boy.wiiting on'a piece of paper.:
- 3) A tenms player hlttmg a tennis bal.
4 A glrl openmg the ctoor of a refngerator .

-19-



24.

Awvul carried out an éxpénrhént with 2 springs, Y and Z. She hiing various
loads on the 2 springs and measured their comresponding lengths

accordingly. She theén recorded the resuits and ploﬁed the ‘graph as
shiown below.

90

80

70

Length of
spring
(em) .

60
50

120

"1 0 .;- -

0

'Spring Y

; $pring Z

10 -20 30 40 50 60 70 80 90 100

> Load (g)

Based on the graph above which one of the followmg shows the correct
mformation about spnngs Y and Z?

ilgg-

© . Spring with loniger. | Spring that stretched
. original length " less
(D [ SpringY - Spring Z
(2) Spring Z SpringZ .-
(3) Sprmg Y Spring Y .
(4) Sprmg Z SpringY



25.. Shinee c;a'rrie__d out the éxperiq}'ént_'as:sﬁbwri below.

Q metal ball -

- ramp . “observed - .desired
crate¢  ‘position  position

~When he released the metal ball 1t hit' the crate causmg it to move

forward. However it did-not move as far as he had wanted zt fo.

What were the ohanges he oould do to the set-up to ensure. that the crate
would reach.the desnred pos;hon‘?

(1)
- (2
(3)

- (4)

“Use a ball with a greater mass

A

B Lower the starting position of the ball

C Apply a layer of oil on the surface of the ramp

D Place the crate with its smaller surface area in contact with
the ground

A and C only

B and Donly

A, B and Conly

A, C and D only

; -21_



. 26.

Four boys, W, X, Y and Z, each at one side-of the box; exerted a force on -
the box at the same.time as.shown in the diagram be!ow The box moved
from position A to position B. '

Legend:

v W_ — Dlrectxon of force
X Z
> <«
—_ FHHEE  box
R i
fv i

Position A . Positiori B

Which one of the following shows the hkely amount of force that was
exerted by each of the boys on the wooden box? :

Amount of force exerted on the wooden box'(N) by

w X ' Y Z

1) 6.3 ' 7.2 : 7.2 8.1
2| - 85 9.4 85 . | 9.4
(3) 6.2 | 43 5.2 6.2

(4 .95 : 9.5 ‘ 8.1 | 8.1

=22- -



Two boys -Aston: and< Kutcher are sattmg ory Mo SImllar trolle
- beén’ placed: ort level groufid:* “They*are Holdinga’ ‘ropé A& _
d:agram below. Given that Aston and Kufcherare of’ equal'mass what will

happen the moment Aslon pulls thé rope? -

Kutcher-

(1) They will move towards each cther.

(2) Kutcher will move towards Aston wha will remain still.

(3) Aston will move towards Kutcher who will remain still.

(4) Kutcher will move forward while Aston will move backward.

“3 -

sthat have_-‘- ,
own' in the



28.  Nikki set up.an expetimeht as shown in the diagram below.

iron.ball

/ .
------------------ 1 38 \) ) )
[ : O _:._'. — — .
N NG N
> plastic table
magnetmoved in s! ' .-
the direction >3
magnet - | ground

As kak] shd the magnet along the unders:de of the table the iron bal: ?
moved along the direction as shown above.

‘What did Nikki's expe'riment show?

(1) A magnet does not attract all types of metals.

(2) Plastic allows magnetic force to pass through it.

(3) Friction slows down the movement of the ball bearing. -
(4) . Magnetic force can pass through non-metallic materiats.




Four ideriticat'glasses contairied: thie following objects. ™ e

orange marbles ©air
~ juice : '

The four glasées are then plac,ec_lA benéath 4 taps.ln The taps are then
- tumed on and water flowed into the glasses at the same rate, - .

K
DR

~In what order, from the first to the la's;t,- ‘will the water overflow in the
glasses? : ' :

(1)  orange juice, golf balls, marbles, air
(2)  air, orange‘juice; marbiés, golf balls
(3) marbles, orange juice, air, golf balls
(4)  orange juice, marbles, golf balls, ir

-25-



30. Jean wants to 1dent1fy an unknown material and she used the Moh’s scale

. - of hardness to help her. This scale compares 10 common minerals with

differing degrees of hardness. A harder mineral will be able to scratch a
mineral softer thanit.

Moh’s scale of hardness
Hardness Mineral-
1 Tale
2 Gypsum
3. Calcite
4 Fluorite Increasing
: 6 - Apatite _ hardness
6 Orthoclase
7 Quartz
8 Topaz .
9 Corundum
10 ~ Diamond 1

- Jean finds -that her mmeral scratches fluorite and apahte but is not
Iscratched by orthoclase.

From this test, Jean is able to conclude that her unknown rnlneral has a

hardness of
(.1') 7

{2) 6

(3) 4

@ .3 :

*4k* END OF SECTION A %+

. "2-6.'__- -
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Section B (40 marks)

For questions 31 - 44, write your answers in this book!et

The number of marks available is shown in brackets [ ]at the end of each questton or

part question.

31.

‘Mei Lan plucks a leaf from a plarit és shown in diagram A below.

_green-colour

white colour _.

Dtagram A

The plant has been placed in the 'sun for 3 days The leaf above was treated
before a starch test was carried out on it using iodine solution.

~ Diagram B below shows the results of the starch test.

yellowish dark blue
“brown colour colour
Diagram B
(@) Whatis the aim of Mei Lan's expen‘mént? i 1]




Mel Lan has oovered both sides of another leaf from the same plant \Mth a sthp of;
black paper as shown below She treated the Ieaf before oonductlng a starch _
testomt_ R R A R SR g LF

- R - . AN 4 LT s R B oA T L St s T " e
' ,3. -t S Slaem < . N R - Lt T . Tar N [ L ;)

Bl_at_:k paper

~ (b)  Shade the parts of the leaf that-l\;\.leuld tumn iodine solution dark blue. - [1]

(c)  What can Mei Lan infer from the results of the second experiment? M




32. Janissa had 4 different magnets, P, Q, Rand T, as_lshown bek_)w.

4cm

12cm

She hung the magnets an equal distance front a tray of pins as shown below. |

pins

B

Bcmy' Q

6cm

2cm

1cm

3en

Mmﬁmﬂ-mml T

Janlssa observed the number of pins attracted by each magnet and recorded her

observatlons in the table below.

Number of pins attracted by the magnets

17

- Magnet - 1= try 2" try 3 try
P - 5 3 4
Q - 11 13 12
R - 8 7 7
T 19 18 .




(@)

®)

(©)

Why did Janissa :re‘peat" herexpériment 3 times? . = . g o M]

From the informationi recorded i tie table _ébo?e, what can Janissa °
conclude about the magnets in relation to their sizes? - ' M

Arrange the magnets in order of their strength, from the strpngest to the

- weakest. | | {1




33. The diagrams befow show 3 fruits, R, S and T.

FruitR FruitT =

The maps below show the locations of 3 types of plants, A, B and C, on a plot of
land in Years 2009 and 2011. '

Year 2009 Year 2011

Key: _
v O Plant A Direction of water

flow
L7 PlantB Direction-of wind

< Pantc

- {(a) Which plant,, A, B or C, is the pafent plant of fruit R? Give a reason for
© your answer. ' ' . [1v2]

(b) " How is fruit S dispersed? What is the physical characteristic of S that
: enables it to be dispersed by the way mentioned? 172}




34. The diagram below shows 2 glasses of water'that have been placed on the table.

evaporating dish - . evaporating dish-

O

80mi of water !

at2°C = ——— at 95°C

(@)  Draw on both set-ups where water droplets will be observed. . [2]

(b)  Explain how the water droplets are formed for set-up X. - -_ 2




35. . Shona used the circuit below to test if objects A, B, C, D and E are made of
conductors of electncuty

i ——e. ——
-Bu'lb1’
Bulb 2
1)1 —(X) °o e

-Z | = Bulb 3
4 ' ®

_.She connected different objects to the circuit at testmg positions X, Y and Z and
recorded her findings in the table below.

Objects placed at - - Does the bulb light up?
. Y z Bulb 1 Bulb 2 ‘Bulb 3
A B . C v . v
E D A v N
C - D E V J
E A B :
B C_ D N g 7

Shona's teacher commented that one of the testing positions that she had chosen
was unstitable for determining if all 3 objects tested at the same time were
electrical conductors.

(8)  Which testing position, X, Y or Z, is Shona'’s teacher referring to? 1]

(b) In the circuit diagram above, use a “N” to indic_ate'where' Shona should
place the.new testing position so that it will be suitable for testing if all 3
objects tested at the same time were electrical conductors. 1]

(c). Based on the results above, which of the objeéfs is/are not electrical
conductors? J1i




N

:36. The chart beki\)\(- is used to élassﬁy-four native Australian mammals. - C

.

b Native Austrafian Mammais,
_-mother feeds milk to the young . |.

_ Gives birth to young alive _ lf_ays'_ eggs
) 4 . - . I. _ v .
Marsupial L Monotreme

Live in burrows Live on frees Has a duck-like bill || Has.a long hairless snout
- V. P B, | - --‘._.’:'- " ' . VL
- | wombat | ‘koala platypus - -7 | echidna

(a) "What is the characteristic that distinguishes a monotreme from a marsupial?

(1]

(b)  Based on the chart, wﬁ_ai,are the charazteristics of a platypus? (2]




37. The diagram below shows a popgun that works using a spring. When the handle
is pulled back and then released, the ball will shoot out of the popgun.

«— handle-

ball .o
. spring

) __(a) _ Wrthout making any changes to the popgun and usirng the same ball,

des&ribe how you would make the ball travel a. further distance when it is
shot out of the popgun.’ (11

(b).  Give a reason for your answer in (a).

(11




:38..

- Karenis playing: bowling with her friends-at Kumck BowlingAlley.- Karen releases

the bowhng ball:which relis‘along. ‘the bowing latie beforé it finally hits the bowlmg
pms at the end of the lané as shown in the diagram below.

bowhng pins

- 6—)

‘Write down in the boxes the energy odji;'/é}sion for the above activity'.- L 3]

~

>'ln the arm

bowiling ball

>' bowling pins




39.

The diagram below shoWs_ a hydroelectric power station.

water —1—

soil—

The dam i$ built on higher ground for storage of water, creating a farge reservoir.

When water flows out from the dam, it tums a turbine whnch is oonnected to a
generator. Electncﬂy is then produced

'(a) Why do you think water is stored at a higher ground ina hydroeélectric plant’?

[1]

(b) State onhe advantage of generaﬁng electricity using a hydroelectric plant?

1




40.  Vince h:ts a squash ball: agalnst the: wall-as shown below:: The :squash; ball htts
the wall at position A before bouricing off and landmg at posmon B on the floor.
: The ball then nolled along theﬂoor before corhmg toa stop at posmon C.

walt

squash ball

M .\’;3:3\
-
e \222-‘

‘()

Z/What is/are the force(s) acting-on the squash ball as it travels from posmon

~ AtoC?! U

(b)

()

‘Mark an “X" on the floor in the above diagram to snrw where the ball might

have landed if Vince had hit the squash ball with a greater force. [1]

‘Why did the squash ball come to a stop eventually? (1]




41. A driver travelling at 75km/h sees a fallen tree trunk in front of his car. He steps
on the brakes to avoid collision with the trée trunk. There is a distance travelled -
by the car before it comes to a stop. This is called the “braking distance®. The
diagram below shows what has happened. -

2 4

Direction of movement

...

_ driver steps car stops
on brakes | _ — 4
: : braking distance 3
(@) ‘Would the braking distaince be shorter, fonger or the same if 1]

(). - the driveris travelling at 110km/h?

(i) - the road is wet and the driver is travelling at 76km/h?

g(b) Suggest a reason for your answer ih (a)(ii)? {11




42.  Gordon placed four. plants in: four |dentlcal jars; each- containing water at the
- saiie level: as' shown below. He: then plaoed the four. set—Ups P Q R and S,
under thesun for aivhotirs- - -+

-‘“ -
"SetupP  SetupQ Set-up R~ =~  Setup$S '

(a)  Atthe end of the experiment, Gordon-measured the height “h” in each jar.
He found the height *h” to be 230mm, 225mm, 220mim and 210mm.
Complete the table below to show the correct results of the experiment.

[1

h (mm) Set-up
-210. - '
220
225
. 230

(b) Which two set-ups should Gordon use.as companson to show that the
roots of the pIant absorb water? Give a reason for your answer. [2]

(¢) Whydid Gordon add a layer of oil to the water? o [1]'




43, ~ Keith observed a cell found in a multi-cellular organism using a microscope. The
diagram below shows the cell that Keith observed under the microscope

- He concluded that the cell W_aé not taken from a plant.

“(a) Did Keith make the right conclusion? Give a reason for yout answer.  [1]

(b) How will a plant be affected if all the cells are similar to the above cell? [2]-




44, Marcuscqnducted_—_agr exp'eriment:-usihg-s- set-ups as _shown_ in t_he'vdia'g’i'"a'm beldw.

C.Rele

LI Pl ox

R N S R LT

container

He réco_rded the results of his experiment in the table below.

.. Set-ups ., 4ciney ' A B C

Initial amount.of water inbeaker (ml) . [ 150 150 150
Termperature of waftéicin container (°C) | 85 | 67 48
Temperature of water bath (°C) - 85 - 67 .| 48

| Amount of water in-béeakerafter4 hours (ml) | 123 135 146

(@) Whatis the.aim of t\{larcuvsf’ experiment? - T 1

(b) Whatis the purpose of the water bath? . (1]

~~ End of Paper ~~

17 o ]
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31)a)To find out if chlorophyll is necessary for photosynthesis to take place.
b) " '

c)The black paper is blocking sunlight from the leaf. Without sunlight,the green
part of the lead which is blocked cannot make food and therefore do not turn iodine
dark blue.

32)a)To get an average result which would ne more reliable.
b)Sizes of the magnets do not affect their strengths.

IT,QR,P

33)a)lt has soft hairs enabling it to stay afloat in the air longer to be carried ajmay by
the wind. ) o '
b)It has a dry fruit wall that splits open when ripe.

34)3)

Set-up W Set-up X - ,
b)Hot water vapour from the hot tea rises up and touches the cool surface of the
evaporating dish, condensing into water droplets.

page 1to 2 page 1




35)a)X
b) Bulb 1
N

C)E,A

36)a)Marsupial gives birth to young while monotreme lays eggs.
b)1t has a duck-like bill, it lays eggs feeds milk to its young.

37)a)Pull the handie back a further distance.

b)When the handle is pulled back for a further distance, the spring will be
compressed more. When the handle is released, the spring exerts a greater elastic
spring force on the ball and shoots it further.

38)Chemical energy> kmetlc energy->kinetic energy—) kmet:c energy + sound energy
+ heat energy

39)a)At a higher ground, there will be more gravntatlonal potential energy. When the
water flows down the pipe, more gravitational potential energy will be converted
into more kinetic energy, making it move faster-and thus it will turn the turbine
quicker.

b)It is a renewable source of energy.

40)a)Gravitational force and frictional force.
b)

C

10, -
Floor X
c)All its kinetic energy were converted into sound + heat energy.

41)a)i)longer ii)longer

b)The driver is travelling at the same speed but the road is wet. Friction will be
reduced when there’s water, so the road is more slippery and the car will have a
longer braking distance. .

42)a)P, Q, R, S L

b)R and P. They have the same number of leaves of leaves but in R, the roots are
wrapped so it is not able to take in water while in P the plant will showmg that the
roots absorb water.

c)All the variables of the set-ups are the same, except that R’s plant’s roots
absorb water, but P’s plant’s roots can absorb water.

43)a)Yes. The cell does not have a chloroplast and cell watl.
b)They will not be in green color and will not photasynthesis.

44)a)To find out if the temperature of the water affect the rate evaporation.
b)It is to ensure that the water in the container remains the original temperature
for a longer time.
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